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Figure 14. GREENHOUSE Presented Onscreen: Question 3 

 
Greenhouse Effect 

Question 3/3 

 
Type your answer to the question below. 

 

André persists in his conclusion that the average temperature rise of the Earth’s atmosphere is caused by the increase in the carbon dioxide 
emission. But Jeanne thinks that his conclusion is premature. She says: “Before accepting this conclusion you must be sure that other factors 

that could influence the greenhouse effect are constant”. 

 
Name one of the factors that Jeanne means. 

 

  


